
Chapter 2

���������

2.1 ��������������������

��������������� S �������� S �����
� {Xn : n ≥ 0} ������� Xn ���������������

�����1P��������������� 1������ n ≥ 0 �

{i0, i1, . . . , in, j} ⊆ S�

P(Xn+1 | X0 = i0, . . . , Xn = in) = (P)in,j , (2.1)

����������������������

P(Xn+1 = j |
���� σ-��� �� �
X0, . . . , Xn )� �� �

σ(X1, . . . , Xn) ����

= (P)Xn,j� �� �
�� Xn ���

.

���������������������������������

������

������������ S � {1, 2, . . . , n} �� {1, 2, . . . } = Z+�

2.1.1 �������

������� P ���������
�������������� 1 �������n× n �� ∞×∞�

����������� X0 ��������

1������������

21
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�������������������������������

������������������� {Un : n ≥ 0} ����� [0, 1)

�����������������������������������

��� X0 � U0 ����(X0, X1) � (U0, U1) ����������

� (X0, X1, . . . , Xn) ������

1. X0 ������������ µ�µ(i) = ai�i ∈ S�������

α0 = 0�αi = a1 + · · · + ai�i ∈ S���� X0 ��� U0���

U0 ∈ [αi−1,αi)�� X0 = i�

2. (X0, X1) ���� µ������� P����� i ∈ S ����

βi0 = 0 ��� j ∈ S�βij = (P)i1 + · · · + (P)ij�� (X0, X1) ���

(U0, U1)�

U0 ∈ [αi−1,αi)&U1 ∈ [βj−1,βj) =⇒ X0 = i&X1 = j.

3. (X0, X2, X3) �� (X0, X1, . . . , Xn) �������

���������� {Xn} ��(2.1)�

2.1.2 ���������

�� X0 ������ µ(i) = µi��

P(X0 = i,X1 = j) = µi(P)ij ,

�������������

P(X0 = i,X1 = i1, . . . , Xn−1 = in−1, Xn = j)

= P(X0 = i,X1 = i1, . . . , Xn−1 = in−1)(P)in−1,j

= · · ·
= (P)i,i1(P)i1,i2 · · · (P)in−1,j .

����� P �������������������� Pn���

�������� S = {1, 2, . . . }������������� S ��
��������X0 ������ µ������ µ ��������

µ = (µ1, µ2, . . . ) = (µ(1), µ(2), . . . )��� X1 ���������� µP �
��P(X1 = j) =

�
i∈S µi(P)ij = (µP)j������Xn = j ����

�

i0∈S
· · ·

�

in−1∈S
P(X0 = i,X1 = i1, . . . , Xn−1 = in−1, Xn = j) = (µPn)j .
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������ v ���� S ������������ ℓ1(S) ���
�������� ℓ1 ��� 1������� v ∈ ℓ1(S)��������
������ P ��� S ���������������������

ℓ1(S) � ℓ1 ����������������������������

����

∥vP∥1 =
�

j∈S

�����
�

i∈S
vi(P)ij

����� ≤
�

i∈S


�

j∈S
|vi|(P)ij


 = ∥v∥1.

�� P � ℓ1 ����������������� 1�

2.1.3 ���������

����������� f : S → R ����� f = (f1, f2, . . . )
T =

(f(1), f(2), . . . )T����� X0 ������ µ�����������

��� E[f(X0)] = µf���� µ � f �����������2����

����� X0 = i����� n ��f(Xn) ������

E[f(Xn) | X0 = i] =
�

j∈S
f(j)P(Xn = j | X0 = j) =

�

j∈S
fj(Pn)ij = (Pnf)i,

�� P � |S| ����� f � |S| �����������������
����������

E[f(Xn) | X0 = i0, . . . , Xm = im]

=
�

j∈S
f(j)P(Xn = j | X0 = i0, . . . , Xm = im)

=
�

j∈S
fj (Pn−m)im,j� �� �

P(Xn=j|X0=i0,...,Xm=im)

= (Pn−mf)im ,

2������������� S = N�������� f �������������

���
∞∑

i=1

µifi = lim
n→∞

n∑

i=1

µifi

������� f ��������������������g(x) ≡ sup|f(i)|�
∞∑

i=1

µifi = lim
n→∞

n∑

i=1

µifi

���
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����

E[f(Xn) | X0, . . . , Xm] = (Pn−mf)Xm , (2.2)

����� X0 ������ µ��

E[f(Xn)] =
�

i∈S
µiE[f(Xn) | X0 = i] =

�

i∈S
µi(Pf)i = µPnf.

����� S ����������� f ������ ℓ∞ ����

�������� f ��������fi = f(i)�

∥f∥∞ = sup
i∈S

|fi|.

������������������������f ��������

� P
∥Pf∥∞ ≤ ∥f∥∞.

2.1.4 ����������

� F : Sn+1 → R ������������������� m���

�������� F (xm, . . . , xm+n)���

E[F (xm, . . . , xm+n] | X0 = i0, . . . , Xm = im]

=
�

j1∈S
· · ·

�

jn∈S
F (im, j1, . . . , jn)

× P(Xm+1 = j1, . . . , Xm+n = jm | X0 = i0, . . . , Xm = im)

=
�

j1∈S
· · ·

�

jn∈S
F (im, j1, . . . , jn) (P)im,j1(P)j1,j2 · · · (P)jn−1,jn� �� �

=P(X1=j1,...,Xn=jm|X0=im)

= E[F (X0, . . . , Xn] | X0 = im].

2.2 ����Doeblin���

����������������Xn ��������� X0 �

����������������������� S ���� π���

Xn
d−→ π��� X0 ��� µ ����

�������������������������������

��������
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2.2.1 �������

�� 2.2.1. �� P � S ���������������� j0 ∈ S��

������ i�(P)i,j0 > 0�������� ϵ > 0 �� (P)i,j0 ≥ ϵ�� P
���������π��� πj0 ≥ ϵ���������� µ�

∥µPn − π∥1 ≤ 2(1− ϵ)n, n ≥ 0. (2.3)

��. ���������� j0 = 1�

������������������� |S| = N ��� ρ�
�

j∈S
(ρP)j =

�

i∈S
ρi.

��������������������� 0 � N ��� ρ����

ρ1 + · · ·+ ρN = 0���� P ����2.2.1��������� n ≥ 1�

∥ρPn∥1 ≤ (1− ϵ)n∥ρ∥1.

�������������� n = 1 ����������������

����� n ���������� Qij�i, j = 1, . . . , N���� j ̸= 1�

� Qij = (P)ij��� Qi1 = (P)i1 − ϵ������ Qij ������� i�

Qi1 + · · · + Qi,N−1 = 1 − ϵ���
�

i∈S ρi = 0��������� j ∈ S�

(ρP)j = (ρQ)j��� ∥ρP∥1 = ∥ρQ∥1������� ∥ρQ∥1 ≤ (1− ϵ)∥ρ∥1�
� Q̃ = (1 − ϵ)−1Q����� Q̃ ������������������

�� 1�����∥ρQ̃∥1 ≤ ∥ρ∥1�������������� (1 − ϵ)��

�����������

�������P �������� {ρ ∈ ℓ1 :
�

i∈S ρi = 0} �����
������������������

�������� µ����� ρ = µ− µP����
�

i∈S
ρi =

�

i∈S
µi −

�

i∈S
(µP)i = 1− 1 = 0,

��

∥ρ∥1 ≤ ∥µ∥1 + ∥µP∥1 = 1 + 1 = 2.

�������������∥ρPn∥1 ≤ (1− ϵ)n∥ρ∥1 ≤ 2(1− ϵ)n������

µ, µP = µ− ρ, µP2 = µ− (ρ+ ρP), . . . ,

. . . , µPn = µ− (ρ+ ρP + · · ·+ ρPn−1), . . .
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������� π����� π ��������� πP = π ������

����������

∥µPn − π∥1 = ∥
∞�

i=n

ρPi∥1 ≤
∞�

i=n

∥πPi∥1 ≤ ϵ−1(1− ϵ)n.

����������(2.3)�������������� m > n�

∥µPn − µPm∥1 = ∥ (µ− µPm−n)� �� �
���� 0�ℓ1 �� ≤ 2

Pn∥1 ≤ 2(1− ϵ)n,

��� m → ∞�
������������� π′���������������

∥(π − π′)P∥1 ≤ 2(1− ϵ)n���� πPn − π′Pn ��� 0������ π �

π′ ����������� πPn − π′Pn = π − π′����� π = π′���

��������������

����� π1 =
�

j∈S πj(P)j1 ≥
�

j∈S πjϵ = ϵ������

2.2.2 ����

����� P �������������������������
PM�����������2.2.1��������� PM �������

≥ ϵ�� P ������������ π��������� µ�

∥µPn − π∥1 ≤ 2(1− ϵ)⌊n/M⌋. (2.4)

��������������������� n = mM�������

�� {Xn} ���� {X0, XM , X2M , . . . , XmM , . . . }����������
��������������� PM����������������

��2.2.1����������������������� π�����

�(2.4)�������������� n = mM + r�1 ≤ r < M�����

��� π ��������������������

������������������������������

������������� Z/4Z �����������2.1����
X0 = 1 ������������������Xn ��� 2, 4�����

���Xn ��� 1, 3������� π ��������������

�������������������������������

����Xn �������� 4 ��������������
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1

2

3

4

1

2

1

2

1

2

1

2

1

2

1

2

1

2

1

2

� 2.1: � S = {1, 2, 3, 4} �������������




0 1/2 0 1/2
1/2 0 1/2 0
0 1/2 0 1/2

1/2 0 1/2 0


�

����������������

�������������������������������

����������

��

An =
1

n

n−1�

m=0

Pm. (2.5)

� An ������������������������

(A)ij =
1

n

n−1�

m=0

P(Xm = j | X0 = i) = E

�
1

n

n−1�

m=0

1{j}(Xm)

�����X0 = i

�
.

�� X0 ������ µ�� (µAm)j � X0, X1, . . . , Xn, . . . ���� 0 �

�� n− 1 ���������� j ��������� n�

�� 2.2.2. �� P � S ������������������ M > 1

����� j0������� i ∈ S�(AM )i,j0 > 0�������� ϵ > 0

���� i ∈ S�(AM )i,j0 ≥ ϵ������������� P ������
� π����� (π)j0 ≥ ϵ ���������� µ

∥µAn − π∥1 ≤
M − 1

nϵ
.

��. ����������������� π �� πP = π���� AM

��������������������� π��� πAM = π��
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� πP = π������������ π����� πP = π′�� π′AM =

πPAM = πAMP = πP = π′��� π′ �� AM ��������� π ��

�����

������������� µ�µAn ���� π���������

���������� µ�

∥µAnAm − µAn∥1 ≤
m− 1

n
, m, n ≥ 1. (2.6)

�����

∥µAnAm − µAn∥1 ≤
1

m

�����
m−1�

k=0

(µAnPk − µAn)

�����
1

≤ 1

m

m−1�

k=0

∥µAnPk − µAn∥1,

��� k = 1, . . . ,m− 1�

∥µAnPk − µAn∥1 =
1

n
∥µPn+k + · · ·+ µPn

� �� �
k �

−µ− µP − · · ·− µPk−1

� �� �
k �

∥1 ≤
2k

n
,

��(2.6)������� m = M����

∥µAn − π∥1 ≤ ∥µAn − µAnAM∥1 + ∥µAnAM − π∥1

≤ M − 1

n
+ ∥(µAn − π)AM∥1

≤ M − 1

n
+ (1− ϵ)∥µAn − π∥1.

�����������

2.3 �����

2.3.1 ������

����� {Xn : n ≥ 0}��

T̄
(n)
j =

1

n

n−1�

m=0

1{j}(Xm)

���� n��������� j �������������� µ����

E[T̄ (n)
j ] = (µAn)j������2.2.2������ n → ∞ ��E[T̄ (n)

j ] → πj�

��������������� T̄
(n)
j ����� πj���������

���������������������������������

�������������� n → ∞ ��T̄
(n)
j → πj �����
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�� 2.3.1. ����2.2.2�������

sup
j∈S

E
�
(T̄

(n)
j − πj)

2
�
≤ 2(M − 1)

nϵ
, n ≥ 1. (2.7)

������� S ������ f��� πf =
�

i∈S πif(i)�

E



�
1

n

n−1�

m=0

f(Xm)− πf

�2

 ≤ 2(M − 1)∥f∥2∞

nϵ
. (2.8)

��. �������(2.8)���(2.7)�(2.8)� f(k) = δjk �����

���������� ℓ∞ = ℓ∞(S) �������� f̄ ∈ ℓ∞ �

f̄i = fi − πf���������� X���� f(X) − πf��� πf ��

�������� f̄(X)���
�
1

n

n−1�

m=0

f(Xm)− πf

�2

=
1

n2

�
n−1�

m=0

f̄(Xm)

�2

=
2

n2

�

0≤k≤l<n

f̄(Xk)f̄(Xl)−
1

n2

n−1�

m=0

f̄(Xm)2

≤ 2

n2

�

0≤k≤l<n

f̄(Xk)f̄(Xl).

(2.9)

�������

E


 �

0≤k≤l<n

f̄(Xk)f̄(Xl)


 =

n−1�

k=0

E

�
f̄(Xk)

n−k−1�

m=0

f̄(Xk+m)

�

=

n−1�

k=0

E


f̄(Xk)

n−k−1�

m=0

E
�
f̄(Xk+m)

��Xk

�
� �� �
��� Xk �����




����(2.2)� =

n−1�

k=0

E

�
f̄(Xk)

n−k−1�

m=0

(Pmf̄)Xk

�

=

n−1�

k=0

(n− k)E
�
f̄(Xk)(An−kf̄)Xk

�
.

(2.10)

������������ f ∈ ℓ∞ � π ∈ ℓ1 � ∥π∥ = 1��� ∥f̄∥∞ ≤
2∥f∥∞3����������� Xk ���� ν����

|f̄(Xk)| ≤ ∥f̄∥∞∥ν∥1 ≤ 2∥f∥∞
3Stroock ������� ∥f̄∥u ≤ ∥f∥u��� ∥·∥u ������ ∥·∥∞��������

�������S = {1, 2}�f = (1,−1)T ∈ ℓ∞(S)�π = (0, 1)����f̄ = (2, 0)T���

∥f̄∥∞ = 2∥f∥∞
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���

|E[f̄(Xk)(An−kf̄)Xk
| ≤ 2∥f∥∞E[An−kf̄)Xk

] = 2∥f∥∞ν(An−kf̄)

= 2∥f∥∞ν (νAn−k − π)� �� �
∥·∥1≤M−1

nϵ

f

≤ 2∥f∥∞][
M − 1

(n− k)ϵ
∥f∥∞]

�������(2.10)���(2.9)�����(2.8)����� f � fi = δij�

�������(2.7)�4

2.3.2 ���

�������������������������� j ���

� ρj = inf{n > 0 : Xn = j}����������� ρ
(m)
j �m ≥ 0���

ρ
(0)
j ≡ 0 ��� m > 1�ρ(m)(j) = inf{n > ρ

(m−1)
j : Xn = j}�������

��� P(ρj < ∞ | X0 = j) = 1����� j �������������

������������������������������

�������� {ρj > n} �������� X0, . . . , Xn �����

������������ X0, . . . , Xn ��� σ �����

1(n,∞](ρj) = Fn,j(X0, . . . , Xn),

�� Fn,j �������

Fn,j(i0, . . . , in) =




1, �� im ̸= j�m = 0, . . . , n�,

0, ����.

��������� m��� ρ
(m)
j > n �� X0, . . . , Xn ��������

��� m ��������

�� 2.3.2. ���� m ∈ Z+ � (i, j) ∈ S2�

1.

P(ρ(m) < ∞ | X0 = i) = P(ρj < ∞ | X0 = i)P(ρj < ∞ | X0 = j)m−1.

������ j ��������� m�P(ρ(m)
j < ∞ | X0 = j) = 1�

4����������� ∥f∥∞ = 1������������� f�������� π

� ∥f̄∥∞ ≤ ∥f∥∞������(2.7)����� 2 ��� 1�
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2. �� j ������� X0 = j �����{ρ(m)
j − ρ

(m−1)
j : m ≥ 1} �

��������������������� ρj�

��. ���� {Xn} �������������2.1.4��������
������1���������

P(ρ(m)
j < ∞ | X0 = i)

=

∞�

n=1

P(ρ(m−1)
j = n&ρ

(m)
j < ∞ | X0 = i)

=
∞�

n=1

lim
N→∞

E
�
1− FN,j(Xn, . . . , Xn+N ), ρ

(m−1)
j = n

���X0 = i
�

=
∞�

n=1

lim
N→∞

E
�
1− FN,j(Xn, . . . , Xn+N )

���ρ(m−1)
j = n,X0 = j

�

× P(ρ(m−1)
j = n | X0 = i)

=
∞�

n=1

lim
N→∞

E [1− FN,j(X0, . . . , XN ) | X0 = j]P(ρ(m−1)
j = n | X0 = i)

=
∞�

n=1

lim
N→∞

P(ρj ≤ N | X0 = j)P(ρ(m−1)
j = n | X0 = i)

= P(ρj ≤ M | X0 = j)P(ρ(m−1)
j < ∞ | X0 = i).

���1���������������2������������

P(ρ(m+1)
j > n+nm | X0 = j, ρ

(1)
j = n1, . . . , ρ

(m)
j = nm) = P(ρj > n | X0 = j)

�������������

E[Fn,j(Xnm , . . . , Xnm+n) | X0 = j, ρ
(1)
j = n1, . . . , ρ

(m)
j = nm]

nm ������
=

E[Fn,j(X0, . . . , Xn) | X0 = j] = P(ρj > n | X0 = j).

�� Tj =
�∞

m=0 1{j}(Xm) ���� {Xn} ��� j ��������

��

P(Tj > m | X0 = i) =




P(ρ(m)

j < ∞ | X0 = j), i = j,

P(ρ(m+1)
j < ∞ | X0 = j), i ̸= j.
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�������2.3.2�1������

E[Tj | X0 = i] = δi,j +
P(ρj < ∞ | X0 = i)

P(ρj = ∞ | X0 = j)
,

��

E[Tj | X0 = j] = ∞ ⇐⇒ P(Tj = ∞ | X0 = j) = 1,

E[Tj | X0 = j] < ∞ ⇐⇒ P(Tj < ∞ | X0 = j) = 1.
(2.11)

�������1.2.2�����������������������j �

�������� E[Tj | X0 = j] = ∞���������������
M > 1 � j0 ∈ S��� i ∈ S��� (AM )i,j0 ≥ ϵ��� ϵ > 0 ���

���� An = n−1(P0 + P1 + · · · + Pn−1)��� P ���������
����������2.2.2������������2.2.2�������
(An)j0,j0 → πj0 > 0���

E[Tj0 | X0 = j0] =
∞�

m=0

(Pm)j0,j0 = lim
n→∞

n(An)j0,j0 = ∞.

�������2.2.2��� j0 ��������������������

�������� i ��� j�

i → j, i, j ∈ S

���� m ≥ 1 �� (Pm)i,j > 0���������� i �������

����� j�

�� 2.3.3. �����2.2.2������������� M �� ϵ > 0�

�� j0 ∈ S���� i ∈ S��� (AM )i,j0 ≥ ϵ�� j ��������

j0 → j������ j0 → j������ p ∈ (0,∞)�E[ρpj | X0 = j] < ∞�

��. j0 ̸→ j ��� P(ρj = ∞ | X0 = j0) = 1����� (AM )j,j0 ≥ ϵ��

����� m ∈ {1, . . . ,M − 1} �� (Pm)j,j0 > 0������

P(ρ(m)
j = ∞ | X0 = j)

≥ P(Xm+1, Xm+2, . . . ���� j&Xm = j0 | X0 = j)

= lim
N→∞

E[FN,j(Xm, . . . , Xm+N ), Xm = j0 | X0 = j]

= lim
N→∞

E[FN,j(Xm, . . . , Xm+N ) | Xm = j0, X0 = j]P(Xm = j0 | X0 = j)

= lim
N→∞

E[FN,j(X0, . . . , XN ) | X0 = j0]P(Xm = j0 | X0 = j)

= P(ρj = ∞ | X0 = j0)(Pm)j,j0 > 0.
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�����j �������

������� j0 → j���� m = m(j) > 0 �� (Pm)j0,j > 0��

���� i ∈ S

(Am+M )i,j =
1

m+M

m+M−1�

l=0

(Pl)ij ≥
1

m+M

M−1�

l=0

(Pl)i,j0(Pm)j0,j

=
M

m+M
(AM )i,j0� �� �

≥ϵ

(Pm)j0,j ≥
Mϵ

m+M
(Pm)j0,j ≥ 0.

������M ′ = M ′(j) = M+m� ϵ′ = ϵ′(j) = (Mϵ/M ′(j))(Pm(j))j0,j >

0������� i ∈ S�(AM ′)i,j ≥ ϵ′������������� j ��

���

������� E[ρj = n | X0 = j] � n → ∞ ����������
����� p > 0�E[ρpj | X0 = j] < ∞�
���� n ∈ Z+ � i ∈ S�� M ′ = M ′(i) � ϵ′ = ϵ(i) �������

u(n, i) = P(ρj > nM ′ | X0 = i)����

u(n+ 1, i)

=
�

k∈S
P(ρj > (n+ 1)M ′&XnM ′ = k | X0 = i)

=
�

k∈S
E
�
FM ′,j(XnM ′ , . . . , X(n+1)M ′), ρj > nM ′&XnM ′ = k

��X0 = i
�

=
�

k∈S
E
�
FM ′,j(XnM ′ , . . . , X(n+1)M ′)

��ρj > nM ′&XnM ′ = k,X0 = i
�

× P(ρj > nM ′&XnM ′ = k | X0 = i)

=
�

k∈S
E
�
FM ′,j(X0, . . . , XM ′)

��X0 = k
�
P(ρj > nM ′&XnM ′ = k | X0 = i)

=
�

k∈S
P(ρj > M ′ | X0 = k)P(ρj > nM ′&XnM ′ = k | X0 = i)

=
�

k∈S
u(1, k) P(ρj > nM ′&XnM ′ = k | X0 = i)� �� �

���� XnM′ = k �� k ����� Un,i

≤ U · u(n, i), U = max
k∈S

u(1, k).

������ U ≤ 1− ϵ′′��� ϵ′′ = ϵ′/M ′��������� k�

P(ρj ≤ M ′ | X0 = k) ≥ (PM ′
)k,j ≥

1

M ′ (AM ′)k,j ≥
ϵ′

M ′ .
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������� u(u, j) ≤ 1−ϵ′′������������u(n, j) ≤ (1−ϵ′′)n�

�������������������������������

��������

E[ρpj | X0 = j] =
∞�

n=1

npP(ρj = n | X0 = j)

≤
∞�

m=1

(mM ′)p
mM ′�

n=(m−1)M ′+1

P(ρj = n | X0 = j)

� �� �
≤P(ρi>(m−1)M ′|X0=j)

≤ (M ′)p
∞�

m=1

mpP(ρj > (m− 1)M ′ | X0 = j)

≤ (M ′)p
∞�

m=1

mp(1− ϵ′′)m−1 < ∞.

2.3.3 ������ π ���

�����2.2.2������������� M �� ϵ > 0���

j0 ∈ S���� i ∈ S��� (An)i,j0 ≥ ϵ���������������

�� π ���������������������������

πj =
1

E[ρj | X0 = j]
. (2.12)

������������������ j ���������2.3.3���
�� E[ρj | X0 = j] < ∞��� πj > 0������� j ��������

E[ρj | X0 = j] = ∞������ πj = 0�

����� j������������ X0 = j��� ρj = ρ
(1)
j �

ρ
(2)
j − ρ

(1)
j �ρ

(3)
j − ρ

(2)
j �����������������2.3.2�2����

�������� n → ∞�ρ
(n)
j ∼ nE[ρj | X0 = j]������ 0 ���

nE[ρj | X0 = j] ����������� j �������n �������

���������� j �����������

nE[ρj |X0=j]�

i=0

E[Xi = j | X0 = j] = T̄
(nE[ρj |X0=j])
j =

nE[ρj |X0=j]�

i=0

(Pi)jj

≈ nE[ρj | X0 = j](AnE[ρj |X0=j])jj .



2.3. ����� 35

�������� n → ∞ ��

n ≈ nE[ρj | X0 = j](AnE[ρj |X0=j])jj ≈ nE[ρj | X0 = j]πj ,

������������������������������� rj =

E[ρj | X0 = j]�

�����

P
�

lim
n→∞

T̄
(n)
j =

1

rj

����X0 = j

�
= 1, (2.13)

�����T̄
(n)
j � X0 = j ������������� r−1

j ������

������5

πj
��2.3.1

= lim
n→∞

(An)jj = lim
n→∞

E
�
T̄
(n)
j | X0 = j

� ��(2.13)
=

1

rj
.

����������������������|T̄ (n)
j | ≤ 1��

��. ��2.13���

• ������ j0 ̸→ j��� j ���������(2.11)�P(Tj < ∞ |
X0 = j) = 1������T̄

(n)
j ≤ Tj/n������ P(limn→∞ T̄

(n)
j =

0 | X0 = j) = 1�������� j ������� rj = E[ρj | X0 =

j] = ∞���������������

• ���j0 → j��� j �������� E[ρ4j | X0 = j] < ∞ ���
����� X0 = j ������{ρ(m)

j − ρ
(m−1)
j : m ≥ 1} �����

�� ρj ������������������������

P

�
lim

m→∞

ρ
(m)
j

m
= rj

�����X0 = j

�
= 1

⇐⇒ P

�
lim

m→∞
m

ρ
(m)
j

=
1

rj

�����X0 = j

�
= 1,

���������� n = ρ
(m)
j ���������(2.13)����

������ n��� n ∈ [ρ
(m)
j , ρ

(m+1)
j )��� f(n) = m/ρ

(m)
j �

g(n) = m/ρ
(m+1)
j ������������

P( lim
n→∞

f(n) = r−1
j | X0 = j) = 1, P( lim

n→∞
g(n) = r−1

j | X0 = j) = 1.

5(2.13)���2.3.1����������� X0 = j ����T̄
(n)
j ���������

������������ πj = r−1
j ���������������������
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����� n�g(n) ≤ T̄
(n)
j ≤ f(n)������ j0 → j ����

�(2.13)�


